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Question Number : 1 Question Id : 7715134536 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 341 nMOSFET ® 94 ¢ dleedl @1 HH Vg @ Sgfl o1l § dul 3901 §H Vg & T4

g ol Bl

In an Enhancement mode nMOSFET, as the value of gate voltage, Vg is increased and becomes

equal to Vg,

SeH A (&) o i R & T o o 8

A channel of holes is formed between source and drain
e quiqan 3a&fdd & 1d The gate is fully depleted
e 1 P P HTER & GHH & S §

Work function of gate becomes equal to substrate

e & A B AT 8 n-JOR F & o1 §

The substrate region below gate becomes n-type

Options:

1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134536 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 fd4T nMOSFET ® W§ Te dieedl @1 AM Vg @ 6/l 91l § Ul 391 AH Vg & M

gl W gl

In an Enhancement mode nMOSFET, as the value of gate voltage, Vg is increased and becomes

equal fo Vg,

9 4 TP (3) & did gl & 990 o 91d §

A channel of holes is formed between source and drain
e quiqar #d&ila & &1d The gate is fully depleted
e B Y TPH HOER & GHH & Wl §

Work function of gate becomes equal to substrate

e & &1 IR & n-JPR 31 7 6 ¢

The substrate region below gate becomes n-type

Options :

1.a
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2.b
3.C
4.d

Question Number : 2 Question Id : 7715134537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ¢S & § nMOSFET & WaleH &1 fRufd ....... gRT & T §
The condition for an nMOSFET to operate in deep triode region is given by
(@)  Vbps*>2(Ves-Vm)

(b)  Vps<<2(Ves-Vrm)

(¢)  Vog>(Ves-Vin)

(d) Vps W Vgs FU@R Vps & fodl ot 77 & fwlp RR &

Vps and Vs such that Ip is constant irrespective of Vpg

Options:
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e T &7 ¥ nMOSFET & Wared @ fufd ....... ERRARIEE
The condition for an nMOSFET to operate in deep triode region is given by
()  Vbps>>2(Ves-Vm)

(b)  Vps<<2(Ves-Vrm)

(c)  Vbs>(Vos-Vrn)

(d) Vps T8 Vg 3HUBR Vps @ ol f 99 & e, R @

Vps and Vs such that Ip is constant irrespective of Vpg

Options :
1.a
2.b
3.cC
4.d

Question Number : 3 Question Id : 7715134538 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofed # ¥ ®H-91 MOSFET ¥ teat dieel @1 ot &udl &7

Which of the following causes a shift of threshold voltage in a MOSFET?
(1) [0 TM@Body effect

(b) 7 T Wger Channel-Length Modulation
(c) 3 ggal FerlSubthreshold Conduetion
(d)  TuE TALL of the above

Options :
1.a
2.b
3.c
4.d
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Question Number : 3 Question Id : 7715134538 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fpfofed # ¥ BR-9 MOSFET ¥ cgal died! a1 oM &1 o
Which of the following causes a shift of threshold voltage in a MOSFET?
(@) 08 TMTdBody effect

b) T o ﬁ@ﬂ?l.-‘Channel-LengthMﬁdulatiﬂn

(c) 0 ¢gal e Subthreshold Conduction
(d)  9uar AL of e above

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134539 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

CMOS i@ # ... B §/1n CMOS technology

(a) PMOS Jiddl H F5 g5d YRUPMOS devices have lower drive current
(b)  PMOS Iftat U fmeft wd ofimfy et o fo 3= Frfa ity &1 weha @ @
PMOS devices exhibit higher output resistance for given dimensions and bias currents
(c) PMOS Il # IR dd Tied &
PMOS devices have higher carrier mobility
(d) PMOS Jfckdl H SfaRrareichal 3/PMOS devices have higher transconductance

Options:
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715134539 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOs TRl & ........ gl &/In CMOS technology

(a) PMOS Jiidl  f4 g5d YRUPMOS devices have lower drive current

(b)  PMOS Ifdaai fGu famef w ofimfy 4wieh & fou 9= Ffa oy &1 weh @ §
PMOS devices exhibit higher output resistance for given dimensions and bias currents

(c) PMOS Il # JaR ded Tagiad &

PMOS devices have higher carrier mobility
(d) PMOS ol H SfRmEmddl 8/PMOS devices have higher transconductance

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Id T A B 7Y 9 UM ... S Bl §
The short-channel effect of channel length modulation causes
(a) Ip-Vg3ificem & 3u ¢gelt car H g
Decrease in subthreshold slope of Ip-V characteristics
(b) Ip-Vp el & Ydi® &7 cad | 3™
Decrease in linear region slope of In-Vp characteristics
(c) Ip Vp faemi & uRfid Ui &7 cam |
Finite saturation region slope of Ip-Vp characteristics

(d) Iudad VAL of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d TR A B 7Y o UM ... 3 Bl §
The short-channel effect of channel length modulation causes
(a) Ip-Vg 3ifcem & IU ¢gelt cor H g
Decrease in subthreshold slope of Ip-Vg characteristics
(b) Ip- Vp el & Ydi® &7 cad H 39
Decrease in linear region slope of Ip-Vp characteristics
(¢) Ip-Vp 3fwiemi & URMT Tl & EaM |
Finite saturation region slope of Ip-Vp characteristics

(d) 3dad GHVALL of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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MOSFET & {0 3 fdggd & & SR Taiickl 3fueau ad .......... gl
The mobility degradation factor due to vertical electric field for a MOSFET is
(a) Vs & HUT®/Proportional to Vs

(b)  (Vos-Vy) & Ui Proportional to (Ves-Ve)
(©) 1+0%Vgs

(d) 1+0*(Ves-Vy)

Options :

1.a

2.b

3.C

4.d

Question Number : 6 Question Id : 7715134541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSFET & U &4 fdqqd &7 & ®RU el Suemm ad .......... gl
The mobility degradation factor due to vertical electric field for a MOSFET is
(a) Vgs & HHUIdH/Proportional to Vs

(b)  (Vos-Vy) & fguiad/Proportional to (Ves-Ve)
(c) 1+6*Vgs

(d) 1+0%(Ves-Vy)

Options :

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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3U-100 nm CMOS Welfig! # 3o Fued td g @id TR @ & U g JRW

The processor architecture proposed for high performance and low static power consumption in
sub-100 nm CMOS technology is
(a) dg BR/Multi-core

(b)  UIgUAIgS/Pipelined
(c) RISC

(d) ERaTS Harward
Options:

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3U-100 nm CMOS Welfig! # 3o Fued d Fy @ie TR @0 & U g TR

The processor architecture proposed for high performance and low static power consumption in
sub-100 nm CMOS technology is
(a) d§ SRMulti-core

(b)  UIRUdES/Pipelined
(c) RISC

(d) gRas Harward
Options :

1.a

2.b

3.¢C

4.d

Question Number : 8 Question Id : 7715134543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fgfifed & ¥ dH-91 fi8d &R 3 MOS Higd &I ol § BSIM Hisq @ JURED &7 gl 87
Which of the following is not an improvement of BSIM model over previous Level 3 MOS
model?
(a) R 9 W 390 a0ad oA &1 § TR &

The current values and their derivatives are continuous in inversion region
(b) AR I AYHAH HIGT T/ Account non-uniform doping of substrate
(c) T ot S o g e wrae =i @l

Incorporate fitting parameters for device geometry dependence

(d)  TREe wiie § aHl B @ oo fggd 47 Wi @

Mobility equation involves both vertical and lateral electric fields

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofifed § ¥ oH-91 fT8d &R 3 MOS Higd &l qol § BSIM Hisq @ JUREd ®7 7l 57
Which of the following is not an improvement of BSIM model over previous Level 3 MOS
model?
(a) R 1AM @ 390 ahad oA & § TR &

The current values and their derivatives are continuous in inversion region
(b) AR T AYHAH HIGT FUdR/ Account non-uniform doping of substrate
(c) Ufdd wiHdl fad & fow e Urre i &e

Incorporate fitting parameters for device geometry dependence

(d) Tl wiew # ahf 99 w© ot fqq 47 Wi @

Mobility equation involves both vertical and lateral electric fields

Options :
1.a
2.b
3.c
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4.d

Question Number : 9 Question Id : 7715134544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOS uf#r warg #, DIBL & @Y @7 U¥W ¥ w94 o fou Fofufea § § e
beH fomn a1 @

In the CMOS process flow, which of the following steps is employed to prevent the short-
channel effect of DIBL?

(a) S/DWITA & §d 3Fd/ Implant anneal of $/D implants
(b) LDD & foau 9d S/D waw/ Tilted S/D implant for LDD
(c) Bfed e ofawmrse fawm/ Nitrided gate oxide growth
(d) guddu & feu STI/ STI for isolation

Options :
1.a
2.b
3.cC
4.d

Question Number : 9 Question Id : 7715134544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CMOS uf#ar wag &, DIBL & @ od W4 ¥ 94 & fou Foffes & § aH-w
eh fon o

In the CMOS process flow, which of the following steps is employed fo prevent the short-
channe] effect of DIBL?

(a) S/DYARH & Wa e/ Implant anneal of /D implants

(b) LDD & fow 7a S/Dwaw/ Tilted S/D implant for LDD

(c) T®fea M iaEs fawr Nitrided gate oxide growth

(d) g¥@nw & forw STI/ STI for isolation

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134545 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 3 AEPH VLSI Wi & fou Fufifed & ¥ oF-3 thatdd W-3eieed (Bleiaumm)
@D 8

Which of the following is not an enhanced photolithography technique for deep-submicron VLSI
fabrication?

(a) 9 R AT (fegum) Phase Shift Masking (PSM)

(b) USRIT Fewe JUR (3l (Optical Proximity Correction (OPC)
(c) W R ﬁ—?ﬂﬂ TGT/E-beam writing on wafer
(d) A FEY () Mmmersion Lithography

Options :

1.a

2.b

3.c

4.d

Question Number : 10 Question Id : 7715134545 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 3 AEPH VLS Hiivad & fou Fefied § @ oF-91 tRaidd wi-omaced (wieiumm)
D g7

Which of the following is not an enhanced photolithography technique for deep-submicron VLSI
fabrication?

(a) 9 R AT (dewwn) Phase Shift Masking (PSM)

(b) el de QUR (3R /Optical Proximity Correction (OPC)
(c) W R 'ﬁc—EﬁH AGT/E-beam writing on wafer
(d) ¥ RAgRU (BT Immersion Lithography

Options :

1.a

2.b

3.C

4.d

Question Number : 11 Question Id : 7715134546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Rp & M9 WRlY W Res & IWaMS 9 WiRly & Oy G&fla Mos fadd 70 & o,
SYIRE e @ & o @t L. N T T B

For a MOS differential pair configured with drain resistance of Rp and common source resistance
of Rgg, the magnitude of Common Mode gain is given by

(a) Rp/(l/gnt2Rss)

(b)  Ro/(1/gutRss)

(¢)  2Ro/(1/(2gx)tRss)

(d) Ro/2/(l/gutRss)

Options:
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715134546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Rp & A IRy W@ Reg & HAME WA WRlY & I ¥efid MOS fivedl qm & forg,
SHIE His T & o @ L aRI T T Rl

For a MOS differential pair configured with drain resistance of Rp and common source resistance
of R, the magnitude of Common Mode gain is given by

(a)  Rp/(l/gmt2Rss)

(b)  Ro/(1/gutRss)

(c)  2Rp/(1/(2gw)tRss)

(d) Rp/2/(l/gmtRss)

Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ofefad 7 ¥ SF-91 MOSFET 3faR1 UfaTYl Wasd & U 4 31 3idl o7

Which of the following can act as a MOSFET Trans-impedance amplifier?
(2)  IHYMY AT U/ Common source configuration

(b)  IHTME TIc FEY/Common gate configuration
() IHYFE fim @_rl) UEYUl/Common drain configuration
(d) J9Yd H U B Tel/None of the above

Options :

1.a

2.b

3.¢

4.d

Question Number : 12 Question Id : 7715134547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fffad # ¥ $H-91 MOSFET 1 Ufqamel Yasd & &0 H B Hidl g7

Which of the following can act as a MOSFET Trans-impedance amplifier?
(a)  JIHGHE HId GEYU/Common source configuration

(b)  IHYME 7Ic FEU/Common gate configuration
() IygFg i (g_'l) YU¥YU]/Common drain configuration
(d)  JTdd H U B e ]/None of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 13 Question Id : 7715134548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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100 MHz & 43R ® 100 ppm WH & fNed & & faU SWd ADC ®Iual

An ADC architecture that is appropriate for giving resolutions in the range of 100 ppm at
bandwidths of 100 MHz is

(a) SRR D/ Successive Approximation

(b)  URUAIRS/Pipelined

(c) B’Eﬂjﬂﬂ @HIBoth the above
(d) R SwSigma-Delta
Options :

1.a

2.b

3.c

4.d

Question Number : 13 Question Id : 7715134548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

100 MHz & d8f0R ® 100 ppm W & fo¥ed &7 & foU ST ADC ®oal

An ADC architecture that is appropriate for giving resolutions in the range of 100 ppm at
bandwidths of 100 MHz is

(a) IRRR YD Successive Approximation

(b) UM</ Pipelined

(c) Iﬂéﬂﬂ THBoth the above
(d) fm SwISigma-Delta
Options :

1.a

2.b

3.c

4.d

Question Number : 14 Question Id : 7715134549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Si g3 e Ho gR Safed dieedl ..., B

The voltage generated by a Si Bandgap reference
(a) Eg/qtmVr

(b)  Egqt(4+m)Vr
(c) Egqt4Vr
(d) Egq
Options:

1.a

2.b

3.c

4.d

Question Number : 14 Question Id : 7715134549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si 48 e Uo G Safed dieedl ..., (7

The voltage generated by a Si Bandgap reference
(a) Eg/qtmVr

(b)  Eg/qt(d+m)Vr
(c) Egqt4Vr
(d) Edq
Options :

1.a

2.b

3.C

4.d

Question Number : 15 Question Id : 7715134550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U PLL & ol fdidfdawn (g, diea Fbd dfm @ W e e W) e
(TARTE, B s umimiasmins ®U H gugm & FeRia four of 9
A PLL can be modeled using Phase Discriminator (PD), Voltage Controlled Oscillator (VCO) and
Low Pass Filter (LPF) as
(a) o ¥ U & 9 die W Gledd T § T

PD followed by VCO in forward path and LPF in feedback path
(b) oy H U O S e 390§ dite

PD followed by LPF followed by VCO in forward path
(c) 3 W H Uisl & §Ic UG Ud Biedd W A didiad

PD followed by LPF in forward path and VCO in feedback path
(d) o T A W vieds ¥ U8 & 9% T

VCO in forward path and PD followed by LPF in feedback path

Options :
1.a
2.b
3.cC
4.d

Question Number : 15 Question Id : 7715134550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W PLL & oal fdidfdawn (i), diea b e @ e W g ot wme e
(AT Bl .......... 00 . w0 | g &Y [k fou of @ ¢
A PLL can be modeled using Phase Discriminator (PD), Voltage Controlled Oscillator (VCO) and
Low Pass Filter (LPF) as
(a) o W H U & didiel wd wised W H Tdive

PD followed by VCO in forward path and LPF in feedback path
(b) W ¥ O & §¢ wadiee 39 a1 didal

PD followed by LPF followed by VCO in forward path
() @ w# U & aG Ay W vised Ty # Al

PD followed by LPF in forward path and VCO in feedback path
(d) o Ty ¥ ddel vl visee w A Uit & 4 T

VCO in forward path and PD followed by LPF in feedback path

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

4.d

GET IT ON
Google Play

Question Number : 16 Question Id : 7715134551 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 309 qiicd 21 W@ (TaeY) N Hfd §, gl W@ § lns @1 SR fq0d gl 39 9ol

clfc &1 FTae AR e &2

A Ring oscillator is constructed by 21 inverters, each having propagation delay of Lns. What is the

clock frequency of this Ring oscillator?

(a) 23.8 MHz
(b) 47.6 MHz
(c) 21 MHz
(d) 42MHz
Options :
1.a

2.b

3.c

4.d

Question Number : 16 Question Id : 7715134551 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.

33000001311302185

U9 309 qiicd 21 W@ (379eY) N HiEd §, Yol U@ # lns @ R f90d gl 39 400

clic @1 FTe AR e 82

A Ring oscillator is constructed by 21 inverters, each having propagation delay of Lns. What is the

clock frequency of this Ring oscillator?

(a) 23.8 MHz
(b) 47.6 MHz
(c) 21 MHz
(d) 42MHz
Options :
1.a

2.b

3.c

4.d

Question Number : 17 Question Id

: 7715134552 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

frdt off Sredm U YW & TREY @1 FEAH ¥R @ B

What is the lowest level of abstraction in any hardware description language?

(a)  deIN®/Behavioral

(b) T T Gate level

(c) UAHD Architectural

(d) TR Ti/Register-Transfer Level
Options:

1.a

2.b

3.¢C

4.d

Question Number : 17 Question Id : 7715134552 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fodt +f1 BrSdm auid Wi # YRIE &I FEH TR @ P
What is the lowest level of abstraction in any hardware description language?

(a)  odeIN®/Behavioral

(b) e TWGate level

(c) WUUIIHD Architectural

(d)  IATER-IR TR Register-Transfer Level
Options :

1.a

2.b

3.c

4.d

Question Number : 18 Question Id : 7715134553 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fafafad # ¥ SH-4 Yiuviiy VHDL &% T8l 87

Which one of following is not a synthesizable VHDL statement?
(a)  ‘case’

(b)  ‘wait until®
(c)  ‘wait for’
(d)  ‘Generate’
Options:

1.a

2.b

3.C

4.d

Question Number : 18 Question Id : 7715134553 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafafad # ¥ SH-4 Yiuiid VHDL &% 78l 82

Which one of following is not a synthesizable VHDL statement?
(a)  ‘case’

(b)  ‘wait until®
(¢c)  ‘wait for’
(d)  ‘Generate’
Options :

1.a

2.b

3.C

4.d

Question Number : 19 Question Id : 7715134554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

7d AR Ty R | 6y UeR @1 e oHd 8

At pre-layout timing simulation fwhich type of delays are approximated?
(a) ¢ facd/Gate delays

(b) ¢ facid/Net delays

(c) 379¢ facd@/Input delays

(d) @ 3df¥/Clock period
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Options:
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

7d AR Ty R | 6y UeR @1 e oHd 8
At pre-layout timing simulation fwhich type of delays are approximated?

(a) ¢ facd/Gate delays

(b) ¢ facid/Net delays
(c) 379¢ facd@/Input delays
(d) @ 3df¥/Clock period
Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

we TR & o 69 UoR & ®e 7 o181 @l e fae iRy

Which type of state machine encoding requires maximum number of bits for state register?

(a)  T3RIBinary

(b) @ gle/One-hot
(c) ‘},-'Gray

(d) %’iﬁiﬂ.-'Hamming
Options :

1.a

2.b

3.c

4.d

Question Number : 20 Question Id : 7715134555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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e IR & U 59 UPR & ¥ WA IeT @ Aidad i IRw

Which type of state machine encoding requires maximum number of bits for state register?

(a) TENIBinary
(b) T gle/One-hot
(c) ‘BI,-'Gray

(d) %’iﬁiﬂ.-Hamming
Options :

1.a

2.b

3.c

4.d

Question Number : 21 Question Id : 7715134556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{8 WPR $t HART H A DG AR BT TRIY §?
Which type of memory has constraint of minimum clock frequency?
(a EEPROM

)
(b) WfIFRAM (THHRULH) /Static RAM (SRAM)
(c) Tfd® RAM (SI3RUTH)/Dynamic RAM (DRAM)
(d) da® URRINTRAM (UH3{RUTH)/Magneto-resistive RAM (MRAM)

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

b9 UHR Bt BAR ¥ YAH BIeIg AN B IRY 82
Which type of memory has constraint of minimum clock frequency?
(a) EEPROM

)
(b) WRIHRAM (THHRULH)/Static RAM (SRAM)
(c) Tid® RAM (SI3RUTH)/Dynamic RAM (DRAM)
(d) 9% URRITRAM (UH3{RUTH)/Magneto-resistive RAM (MRAM)

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

THSIGIT BT HH-U GHIEH FUoH 06 UPHdGd S SEiad Hdl 82
Which resource of FPGA implements combinational logic functionality?
(a)  sild RAM/Block RAM

(b) I Rag Afed/Routing Switch Matrix

(¢c) Uwuuig dibd e (Tued) /Configurable Logic Block (CLB)
(d) Suded /Al of above

Options :
1.a
2.b
3.cC
4.d

Question Number : 22 Question Id : 7715134557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

UGude & BH-91 Y414 GioH d% Yardiedl & SEi-ad a3dl 87

Which resource of FPGA implements combinational logic functionality?

(a) M@ RAM/Block RAM
(b) ®f fag AfedRouting Switch Matrix
(¢c) U¥uig didd =i$ (Tued) /Configurable Logic Block (CLB)
(d) 3w Ti/All of above
Options :
1.a
2.b
3.¢C
4.d

Question Number : 23 Question Id : 7715134558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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FPGA &I qorl | Fofcifad & ¥ ASIC & fou ofoRed sftpea wied aH-1 &

Which of the following is additional design process for ASIC compared to FPGA?
(a) T&U (499 @ {0 fide (SUwel) Design For Test (DFT) insertion

(b)  UARE Fd/Formal Verification
(c) Wfod gwy foxeyy (T§AU) /Static Timing Analysis (STA)
(d)  ®fdRouting

Options :

1.a

2.b

3.¢C

4.d

Question Number : 23 Question Id : 7715134558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FPGA @ qo ¥ Fuffed # ¥ ASIc & fou sfofea siftmean ufbar $H-1 &
Which of the following is additional design process for ASIC compared to FPGA?
(a) T Fd¥H & fou efimed (S1Uwel) Design For Test (DFT) insertion

(b)  JUARE Sid/Formal Verification
(c) Wfdw AT faxev0 (TWCI) /Static Timing Analysis (STA)
(d)  ®fdTRouting

Options :

1.a

2.b

3.cC

4.d

Question Number : 24 Question Id : 7715134559 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ITAG SRSl & Weidla & iy, TAP ®¢ WRedd o Py g fafa 2

For JTAG boundary scan test protocol, TAP state change is controlled by which input?
(a) TDI

(b) TMS
(c) TDO
(d) TCK


https://applink.adda247.com/d/XhqWf9lSap
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Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 24 Question Id : 7715134559 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

ITAG e{ W Wieidla & iy, TAP ®e uRadd fow ey gr1 Fafd &
For JTAG boundary scan test protocol, TAP state change is controlled by which input?
(a) TDI

b

d

Options :
1.a
2.b
3.c
4.d

(b)
(¢) 1D
(d)

Question Number : 25 Question Id : 7715134560 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR SER std_logic YR & fpd ¥ ¥eg §, I R SRR L', ‘2, ‘W', ‘1’ B HH WM B
g d fa @1 faved am o @

Four drivers are connected to a signal of type std_logic, what is the resolved value of the signal if
the four drivers contribute values of L, *Z*, ‘W", ‘1" ?

(@) L
(b) X
() Z
(d) 1
Options :
1.a
2.b
3.c
4.d
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Question Number : 25 Question Id : 7715134560 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IR SRR std_logic YR & fwd ¥ ¥ §, I R SRR L', ‘2, W, 1’ B HH WM B
¢ d fmra a1 favea am fven

Four drivers are connected to a signal of type std_logic, what is the resolved value of the signal if
the four drivers contribute values of ‘L’, ‘Z’, ‘W, ‘1’ ?

(a) L

(b) X
(c) Z
(d) 1
Options :
1.a

2.b

3.C

4.d

Question Number : 26 Question Id : 7715134561 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 MHz 990 gt W e @ fefoled CMOS IC, 150 mW U@ &1 UM &l &, 25
MHz 90 39 R Welied dgl IC, 300 mW TR P SUHF &al 81 IC &1 Vfdd TR JUHM
feber T §7

A digital CMOS IC operating at 10 MHz clock frequency consumes 150 mW power, the same IC

operating at 25 MHz clock frequency consumes 300 mW power. What is the static power
consumption of the IC?

(a) 25mW
(b) 50mW
(c) 100 mW
(d) 40mW
Options :
1.a

2.b

3.c

4.d

Question Number : 26 Question Id : 7715134561 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 MHz ¥99 39K W Weliod & fefved CMOS IC, 150 mW TR &1 UM &dl &, 25
MHz $99 3di R Waieid 981 1C, 300 mW IR &I U &Rl 81 IC &1 Widd W JUHM
fbe &2

A digital CMOS IC operating at 10 MHz clock frequency consumes 150 mW power, the same IC

operating at 25 MHz clock frequency consumes 300 mW power. What is the static power
consumption of the IC?

(a) 25mW
(b) 50mW
(c) 100 mW
(d) 40mW
Options:
1.a

2.b

3.C

4.d

Question Number : 27 Question Id : 7715134562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o9 TEH &7 @& GRM NMOS 2R & e 3iRigs & 3t i dx Whhd 6 ol &7
Positive charges are collected under gate oxide of NMOS transistor during which operating region?
(a) Ugg4/Aceumulation

(b) AT Tnversion
(c) Hd&T/Depletion
(d) SWa /Al of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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GET IT ON
Google Play

g WA &7 & SR NMOS 2Rt & T2 HlddIEs & HdM SHIed 3Idq Uhd 16 o &

Positive charges are collected under gate oxide of NMOS transistor during which operating region?

() T9g/Accumulation

(b) oJepH Tnversion
(c) 3{d&d/Depletion
(d) JWd WAL of the above
Options:
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134563 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafifed fefoea oRuy o9 fiddm I99 ol R Tt § Iodl & 3 & @, T
DFF & Q fdcdd & ¥99 @I 2 ns, XOR A & YR fdcid @ 3 ns & &Y H, T Sfffiqa
! 0.5 ns T DFF ®IH &l 0505 & Y H, 3 9l fidia @l TR o

What is the maximum clock frequency at which following digital circuit can operate? Assume,

Clock to Q delay of each DFF as 2 ns, propagation delay of XOR gate as 3 ns, clock uncertainty as
0.5 ns and DFF setup time requirement as 0.5 ns, ignore all other delays.

AD—1D ﬂg ba Y

aS—r2 r
(a) 200 MHz

(b)  166.66 MHz

(c) 142.85MHz
(d) 181.81 MHz
Options :

1.a

2.b

3.c

4.d

Question Number : 28 Question Id

: 7715134563 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafifed fefed oRuy o9 fiedm 990 oGl R Wikd § Iodl & 3FH & @, Td
DFF & Q fadid & T99 @l 2 ns, XOR T & U fdefld &l 3 ns & ®0 H, THY Ay
I 0.5 ns 7Y DFF R Bl 0.5ns & ®Y #, 37 gt focia @i Foraierd H1

What is the maximum clock frequency at which following digital circuit can operate? Assume,
Clock to Q delay of each DFF as 2 ns, propagation delay of XOR gate as 3 ns, clock uncertainty as
0.5 ns and DFF setup time requirement as 0.5 ns, ignore all other delays.

so—p qg e R

K o—T2 r
(a) 200 MHz

(b)  166.66 MHz

(c) 142.85 MHz
(d) 18181 MHz
Options :

1.a

2.b

3.c

4.d

Question Number : 29 Question Id : 7715134564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CPU @ 191 P YuH & WM & &0 A Fglifed 4 9 a9-9 @ T8 wan

Which of the following DO NOT take place automatically as part of handling of interrupts by
CPU?

(a) UM SR & ®P @ AR Udbe/Push the program counter to the stack

b) T Widy Wored B Wb B SR Yberl/Push all active registers to the stack

(b)
(c) UM YR & ¥P ¥ U HIPop the program counter off the stack
(d) fom oo ¥ faw €S @1 &R o]

Jump to the interrupt handler in the interrupt vector
Options :
1.a
2.b
3.¢C
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4.d

Question Number : 29 Question Id : 7715134564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

CPU ! 911 ! YUIeH & WM & &4 § Fofafgd 4 ¥ o9-91 @ T8 o

Which of the following DO NOT take place automatically as part of handling of interrupts by
CPU?

(a) WM PR 3 ®P @ AR Yober/Push the program counter to the stack

b) T Widy FoReX B Wb B SR YdberlPush all active registers to the stack

(b)
(c) UM YR & ¥P ¥ U HAIPop the program counter off the stack
(d) fow ofew o fow g @t &R M

Jump to the interrupt handler in the interrupt vector
Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2C T, 0000000 Gdl........coon.... & fou Iwi fear 9 8
In I3C, the address 0000000 is used as / for

(a) HHM ®Id Udl/General Call Address
(b) I (UHIgUH) Ud/Null (CBUS) Address
(c)  Udl fa&R/Address extension
(d) J= Tfd F9a® fqulHigh speed controller mode
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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2C T, 0000000 Gdl................ & fou Iwi fear 9 8
In I3C, the address 0000000 is used as / for

(a) HHM ®Id Udl/General Call Address
(b) I (UHIgUE) Ud/Null (CBUS) Address
(c)  Udl fa&R/Address extension
(d) J= Tfd F9a® fqulHigh speed controller mode
Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

USB 3.2 # 3fiddd Sel IR0 X foa &7

What is the maximum data transfer rate in USB 3.2?

(a) 5 Gbps
(b) 10 Gbps
(c) 20 Gbps
(d) 40 Gbps

Options :

1.a

2.b

3.¢C

4.d

Question Number : 31 Question Id : 7715134566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

USB 3.2 # i@ sa1 U & o 82

What is the maximum data transfer rate in USB 3.2?

(a) 5 Gbps

(b) 10 Gbps
(c) 20 Gbps
(d) 40 Gbps

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

d@Ia® T @y & ey § Fefied § 3 oF-9 3 Tl 8

Which of the following is true about immediate addressing mode?

(a) S @ 34 Ul & AW Y Al f o 8, o 99 deiia e o gl

Data is accessed by specifying the register name in which it is stored.
(b) YoH-HH P W H § W 9 Bl

Value of operand is held within the instruction itself.
(c) fiubie & qd a1 ™M Ual e W §

Location address is given immediately following the opcode

(d) TR wlafifa 1o gfdqdl ¥ drRdfad gHg Ser iRu & ferw 3fed &

Suitable for real time data transfer from memory mapped I/O devices

Options:
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

diliad T oy & 9ey § Fgfifed § 3 oH-T1 & Tl 8

Which of the following is true about immediate addressing mode?

(a) S0 @ 39 Ual & AW Y AfFEG for Wi §, fored S¥ seiRa fow w2
Data is accessed by specifying the register name in which it is stored.

(b) UPH-AF B e H § v W g
Value of operand is held within the instruction itself.

(c) HUBIS & Tid dIG ™ Ud e o 3

Location address is given immediately following the opcode
() W URRET Vo Ul ¥ aRdfie T 3 oW & R 3R 3

Suitable for real time data transfer from memory mapped I/O devices

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134568 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FafafEd f # RAM &1 Ul 3o @1 &2
What is the address range of the RAM in the following figure?

Ag —A Y7 p
A, —B :
Ay ’
p

b2 70CSof RAM
3-8 decoder b

FEEEE
t]J
2|

YO P

a)  0A00 to O0FF

(
(b)  2A00 to 2AFF
(c)  OE00 TO OEFF
(d)  2E00 TO 2EFF
Options:
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134568 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fofefad fo § RAM &1 Ul 3 @1 &2
What is the address range of the RAM in the following figure?

Ay —A Y7 p
A — 1P D
Ap C '
b
b
Y2 3
TO CS5 of RAM
3-8 decoder i_ 3
"l"'i =
A!']_? —d - i
A]E ] EN
A9
LVEE :
(a)  0AO00 to OOFF
(b)  2A00 to 2AFF
(c) OEO00 TO OEFF
(d)  2E00 TO 2EFF
Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 34 Question Id : 7715134569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ARSIV § §9U 19¢ a9 el § 94, ..

Brown out occurs in a microprocessor when

(a)
(b)

(c)

IR Yel diceal Ficy <gelt & A gidl 8
the power supply voltage falls below a specified threshold
TR Yerd dicedt Ry decfl § IR dedl ©

power supply voltage increases above a specified threshold
Ty g Ffep agdl & i e @

The clock frequency falls below a specified threshold

wg gy fAfGE deell @ I Ted &

The clock frequency increases above a specified threshold


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AISHIYER H §30 3¢ dd Bidl ¢ ...
Brown out occurs in a microprocessor when
(a) UR Y diced (iEy Seclt & 4 gt &

the power supply voltage falls below a specified threshold
(b) U Y@ diced Ffey el 4 W dedl @

power supply voltage increases above a specified threshold
(c) UHE omghl My <eell & i gt @

The clock frequency falls below a specified threshold
(d) T mghy ey el ¥ IR Ted &

The clock frequency increases above a specified threshold

Options :
1.a
2.b
3.cC
4.d

Question Number : 35 Question Id : 7715134570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

LC &9 & §dy o Fafafad § ¥ - Y W8l 8
Which of the following is NOT TRUE regarding I*C bus?
(a) ¥ U @l 9R 99 g/t is a two wire bus
(b) Hedl ARR-Acd] &id THY0 &l qafdd & §
Supports multi master- multi slave configuration
(c)  400kHz d® @I gd faen H a1 ofRW gl &
Data transfer in fast mode takes place at upto 400kHz
(d) PG T I SR A GRT GG B §

Clock signal is always generated by transmitting device

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IC §9 & ¥y H fafafed # 9 oF-9 oy w8 8
Which of the following is NOT TRUE regarding I*C bus?
(a) U8 U &l aRR §9 /It is a two wire bus
(b) Hedl ARR-Acd] &id THY0 Sl YHfdd & §
Supports multi master- multi slave configuration
(c)  400kHz TF @ gd faur H a1 3Rl gl &
Data transfer in fast mode takes place at upto 400kHz
(d) @l [Gua gHA WRU giE R ST il §

Clock signal is always generated by transmitting device

Options:
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofifdd WM &1 808SHIEHIMNR ¥ Fwnied foar a1 &1 URMG: ®IH 2201H H  AAH @I
qH B ¢ WIH & AT & sddd 2202H § 9H foa g

The following program is executed in 8085 microprocessor. The location 2201H initially
contains the value AAH. What will be the value in 2202H at the end of execution?

LXIH2201H
MOV AM
INXH
ORAA

MVI A FFH
POLL
XRAA

L1: MOV M.A
HLT

(a) AAH
(b)y 55H
(c) 00H
(d) FFH
Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal247

fofifdd WM &1 808SHIEHIMNR ¥ Fwnied foar a1 &1 URMG: ®IH 2201H H  AAH @I
qH B ¢ WIH & AT & sddd 2202H § 9H foa g

The following program is executed in 8085 microprocessor. The location 2201H initially
contains the value AAH. What will be the value in 2202H at the end of execution?

LXIH2201H
MOV AM
INXH
ORAA

MVI A FFH
POLL
XRAA

L1: MOV M.A
HLT

(a) AAH
(b)y 55H
(c) 00H
(d) FFH
Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134572 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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4 foy Tt e e oy

For the multivariable control system shown below,

Lty B
1 10
6= i H[S]:[o 1]
s+2
4 Y 9 Yor HeR M(s) = Y(s)/R(s) 1 W I

Find the closed loop transfer function matrix M(s) = Y(s)/R(s)

R Y(s)
i :/'\ »  Gs) >

Hg)

3249s+4 1 358 40s+4 1

) S5+ )5+l S b s641) [s(s+D)s+2) s

s(s+1) 3547 s245542 3542

S(s+1) s(s+1)

32495 +4 1 3%+ 0544 1

. S5+ )61 o o B0 s+ e+ ¢

s(s+1) 35472 s4+55412 3542

s(s+1) s(s+1)

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 37 Question Id : 7715134572 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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4 foy Tt e e oy

For the multivariable control system shown below,

Lty B
1 10
6= i H[S]:[o 1]
s+2
4 Y 9 Yor HeR M(s) = Y(s)/R(s) 1 W I

Find the closed loop transfer function matrix M(s) = Y(s)/R(s)

R Y(s)
i :/'\ »  Gs) >

Hg)

3249s+4 1 358 40s+4 1

) S5+ )5+l S b s641) [s(s+D)s+2) s

s(s+1) 3547 s245542 3542

S(s+1) s(s+1)

32495 +4 1 3%+ 0544 1

. S5+ )61 o o B0 s+ e+ ¢

s(s+1) 35472 s4+55412 3542

s(s+1) s(s+1)

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 38 Question Id : 7715134573 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fodiy o9 ardfod e o sfarcd SR ¢ = 05 W dfaHfed Wgpldd 3Rt w=10 radss gl

P QA [P & U G @R &1 9 A9 1,02 51 RReH @1 I e

...... gl

A second order real system has damping ratio { = 0.5 and undamped natural frequency w,=10
rad/s. The steady state value of the output, to a unit step input, is 1.02. The transfer function of

the system is
1.02
a e —
@) s2 4554100
102
by —
®) 524 10s 4 100
100
C L
© s+ 10s 4 100
102
A s
9 52+ 554 100
Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 38 Question Id : 7715134573 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

fedy 9 ardfad RRew o S@rcd SFU ¢ = 05 W 3@Hfed Wgid® 3ERt we=10 radss gl

s WMl Ay & T 5 e@w1 @1 fid 39 1.02 31 Rey @1 @ yor

...... gl

A second order real system has damping ratio { = 0.5 and undamped natural frequency w,=10
rad/s. The steady state value of the output, to a unit step input, is 1.02. The transfer function of

the system is
1.02
s2 4554100
102
s2+10s+ 100
100
s2+10s + 100
102
524554100
Options :
1.a
2.b

3.¢C
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4.d

GET IT ON
Google Play

Question Number : 39 Question Id : 7715134574 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

U FqE § fou i $®u ver § ¥ 9H-U1 dcod R HeR 3 WeRid @ &7

Which one of the following transfer function exhibits least steady state error for ramp input?

9
§2+2s+9
16
s2+2s+ 16
25
s2+2s+ 25
36
s2+2s+ 36
Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134574 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
W e o fou Fofifed dRu yor § ¥ oH-U1 ofcdan ' R 3 WeRld ol

Which one of the following transfer function exhibits least steady state error for ramp input?

9
s2+2s+49
16
s2+2s+16
25
s+ 25+ 25
36
s+ 25436
Options :
1.a
2.b
3.c

4.d
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Question Number : 40 Question Id : 7715134575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fodad PRI TUR (GBS T A fdaw PRA FUR (ARSH) ... Y
W &

Discrete Fourier Transform (DFT) and Inverse Discrete Fourier Transform (IDFT) are given by
(a) Xk— n=0 )Cn“g'tzrmn”IiI ; xnzﬁzﬂz-{‘]lxk.e—ihknm' n €z

[b} Xk_Zn 0 Xn€ Ry s Xn :%ZE:-&XF(-BE-MMM: n ez

(c) Xk— n=0 xn gt2men/N s Xn zizi:g}(k_eihknm] n €z

1 i i
(d) X, —En dx,e —i2nkn/N : :EEg:E} XYoo Iznknij n ez

Options :
1.a
2.b
3.¢
4.d

Question Number : 40 Question Id : 7715134575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fdq PRl TUR (EUHA) T Gehd fdad BRA TR (3EEUH)
9 g

Discrete Fourier Transform (DFT) and Inverse Discrete Fourier Transform (IDFT) are given by

1 L N
[b} Xk_Zn 0 Xn€ g » Xy :EEE:&XI(-BEMMIN: n ez

i2mkn/N . . _ loN-1 i2mkn/N
B XLyl prmemy l’n—EEhoXk-E’ N n ez

1 _| i
(a) Xk— ik xnerzmmm : XHZEZE:[}X,!;-E IZHkn/N' n €7z

-}

1 L i
[d} Xk —En 0 Xn€ N s Ap ZEEEF:E} Xk-e Iznkn;‘h‘] n ez

Options :
1.a
2.b
3.cC
4.d

Question Number : 41 Question Id : 7715134576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I IR WK & SIS d6E & U K=7 A 12 @ & Yoy Pise @ faewd
fddpieT ¥ god @led WOl &1 SUa &Xdl gl 59 WOTel &1 @led disd 5.1 db g1 Bied
TOTElt o 1Y & SRU A 39 e & Ide URadd Ui &1 3ibad ol
Downlink of a satellite communication system employs coding scheme consisting of a
rate-1/2 convolutional encoder with length K=7, and Viterbi decoding. The coding gain
of this scheme is 5.1 db. Calculate the approximate factor of reduction to the receiving
dish antenna diameter due to benefits of coding scheme.

(a 18
(b) 324
(c) 41
(d) 6.28
Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SR YOR WA & SISAGS d9 & U K=7 a1 12 @ & §daqd Hied U4 fdeal
famled ¥ qad dled Wl &1 S Bl 8l 59 WUl @1 died aiel 5.1 db gl $led
TOTEll & Y & HRU AR fEW Te & Wide uRddd UiE @1 e Bl
Downlink of a satellite communication system employs coding scheme consisting of a
rate-1/2 convolutional encoder with length K=7, and Viterbi decoding. The coding gain
of this scheme is 5.1 db. Calculate the approximate factor of reduction to the receiving
dish antenna diameter due to benefits of coding scheme.

(a) 1.8
(b) 3.24
(c) 41
(d) 6.28
Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134577 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

T it dad oY 0 ¥ ToRdl 5 ol 400 Hz-4 kHz @ 1dfd W & SR 10 V2Hz!
» fR @ WU TR Hd GR Ywd 7 o g6d & ot § 5 e ek 7
YA o ¢ b 0 WY & a @1 9 gl gl A 38 1 Q & WRled § &fta fa
W & A T P9 W UR e

A telephone channel suffers from Gaussian noise which can be modeled by a constant single-sided
power density of 10€ VZHz! over the frequency range 400 Hz-4 kHz. Band pass filters in the
system ensure that the noise outside this range is negligible. What is the total noise power if it is
dissipated in a 1 Q resistor?

(a) 1.8mW

(b)y 22mW
(c) 3.omW
(d) 44mW
Options:
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134577 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T ol dad oYY 3 Y ToRdl § ol 400 Hz-4 kHz @ dfd R & SR 10 V2Hz!
% RR @ WO TR Hd §R Ywd &7 o 96 & ot § 5 e et 75
YA o ¢ b 0 WY & aIR @1 9 e gl A 38 1 Q & WRled § &fda fon
T § @ S B 0 IR e 7

A telephone channel suffers from Gaussian noise which can be modeled by a constant single-sided
power density of 10€ VZHz! over the frequency range 400 Hz-4 kHz. Band pass filters in the
system ensure that the noise outside this range is negligible. What is the total noise power if it is
dissipated in a 1 Q resistor?

(a) 1.8mW

(b) 22mW
(c) 3d.omW
(d 44mW
Options :
1.a
2.b
3.c

4.d
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Question Number : 43 Question Id : 7715134578 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e iTie Ts @ T T0e 9 @ @ xy 990 § @ T 8 +32me2
DAY & T AW @ (0,0,2) Fexid @ T &l e, ald Wagqdid 8l x, y W z &l &
P ], k3R 9w §1 FReE (V2v20) B, foeg o wiw (e ... Rl

A perfectly conducting metal plate is placed in x-y plane in a right handed coordinate system. A
charge of +32n60\/f columbs is placed at coordinate (0,0,2). €, is the permittivity of free space.
Assume 1], k to be unit vectors along x, v and z axes respectively. At the coordinate (\E\@ 0),

the electric field vectorE (Newtons/ Columbs) will be

z

+32me0V2 \ 4
m.um;; \c Y perfectly conducting metal plate
(00,2) | /

e (V2 V20)

(0,00)

~

) 2k
) -2k

) 2%

) -2k

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134578 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
e iTie Ts @ T T0e 9 @ @ xy 990 § @ T 8 +32me2
DAY & T AW @ (0,0,2) Fexid @ T &l e, ald Wagqdid 8l x, y W z &l &
P ], k3R 9w §1 FReE (V2v20) B, foeg o wiw (e ... Rl

A perfectly conducting metal plate is placed in x-y plane in a right handed coordinate system. A
charge of +32n60\/f columbs is placed at coordinate (0,0,2). €, is the permittivity of free space.
Assume 1], k to be unit vectors along x, y and z axes respectively. At the coordinate (\E\@ 0),

the electric field vectorE (Newtons/ Columbs) will be

z

+32me0V2 \ 4
co.umnﬁ \l Y perfectly conducting metal plate
(00,2) | /

e (V2 V20)

(0,00)

~

) 2k
) -2k

) 2%

) -2k

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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20MHz & UF 3Ufd ¥ H SmV m! rms @1 &7 digd 81 3fd ¥U Y w2 SEUR R U
gidd el g

An incident wave at 20MHz has an rms field strength of SmV m-l. How much power would be
received by a properly terminated /2 dipole?

@) 194X 106 W

(b) L77X107W

(€) 3.0X107W

(d 92X107W

Options:
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

20MHz & T% 3fqd a0 ® SmV m! rms @1 &7 digdl g1 Sfdd ¥4 ¥ 12 SEUG GR U
qidd e g

An incident wave at 20MHz has an rms field strength of SmV m-l. How much power would be
received by a properly terminated A/2 dipole?

(a) L94X100W

(b) L77X107W

(c) 3.0XI107W

(d 92X107W

Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I 0 Tl & U 50Q 57 & 9y FfdF VSWR @1 A0idd 1.5 6w oI § @ T
yfaarer fel g

If input VSWR with 502 line for an antenna is measured as 1.5, what is the antenna impedance?

(@ 50Q
(b) 75Q
(c) 100Q
(d) 300Q
Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I 0@ Tl & U 50Q 57 & 9y FfdF VSWR @1 A0idd 1.5 6w oI § @ T
yfaarer fel g

If input VSWR with 502 line for an antenna is measured as 1.5, what is the antenna impedance?

(@ 50Q
(b) 75Q
(c) 100Q
(d) 300Q
Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134581 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ag U W AR yd §, frel sfdke fom 7.62 9.M.3.81 9. 8, TEp fw @
fw o omefy @1 W @l

For air-filled rectangular waveguide whose inside dimensions are 7.62 cm x3.81 cm, find the cut-
off frequency for the TE 1o mode.

(a) 4.51GHz
(b) 3.20GHz
(c) 1.97GHz
(d) 0.74GHz
Options:
1.a

2.b

3.c

4.d

GET IT ON
Google Play

Question Number : 46 Question Id : 7715134581 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

g W HAdER wyd §, e ofdRe fam 7.62 9.9.%3.81 T B, TEp W &
fw o omefa @1 w @l

For air-filled rectangular waveguide whose inside dimensions are 7.62 cm x3.81 cm, find the cut-
off frequency for the TEy mode.

(a) 451GHz
(b) 3.20GHz
(c) 1.97GHz
(d) 0.74 GHz
Options :
1.a

2.b

3.C

4.d

Question Number : 47 Question Id : 7715134582 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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EPROM ¥ &l &l IR e WeRU ............ & HiEW § U fou a8
In a EPROM, non-volatile storage of information is achieved through
oY Ie & Jada ed § uRadd

Changes in magnetic properties of semiconductor
(b) 3 uId IFH F TG HSoft break down of semiconductor junctions
MOSFET & @a ¢ # 3fafl@ amaw

Charge injected into floating gate of MOSFET
I diecd] & WY 3fidRe Hat 91 o

Fusing of internal connections with higher voltage

Options:
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134582 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

EPROM H &1 &1 R g %erRW ............ & T ¥ W foe o g
In a EPROM, non-volatile storage of information is achieved through
3ff Id & Jedd ueH # IRad

Changes in magnetic properties of semiconductor
(b) 3 Irid AEA F G5 HSoft break down of semiconductor junctions
MOSFET & @aH ¢ # Sfafle 3w

Charge injected into floating gate of MOSFET
¥ diccdl & Y e Wad &1 TH

Fusing of internal connections with higher voltage

Options :
1.a
2.b
3.C
4.d

Question Number : 48 Question Id : 7715134583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Tl fid & Ty A Ol O ooy TeH T 0§l T8 Y 3 UedH $Y

Given below are Full adder circuit sections with output sum/ carry. Identify the correct

statement.
1 ]
1 — Cjin
- —O—{)’Oi —» F
0 — L F G 2
1 —
D |
0 /ﬁ
1

—_ Cn 200 —» Fy

T = T T T — T S
| 1
T

Xy Gin
(a) Fl 99 § W F2 ${/FL is sum and F2 is carry
(b) F3 U9 § W F2 ${/F3 is sum and F2 is carry
(c) Fl 99§ W F4 UL is sum and F4 is carry
(d) F3 99 § W F4 ${/F3 is sum and F4 is carry

c
d

Options:
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Tl fid & Ty A Ol O ooy TeH T 0§l T8 Y 3 UedH $Y

Given below are Full adder circuit sections with output sum/ carry. Identify the correct

statement.
1 ]
1 — Cjin
- —O—{)’Oi —» F
0 — L F G 2
1 —
D |
0 /ﬁ
1

—_ Cn 200 —» Fy

T = T T T — T S
| 1
T

Xy Gin
(a) Fl 99 § W F2 ${/FL is sum and F2 is carry
(b) F3 U9 § W F2 ${/F3 is sum and F2 is carry
(c) Fl 99§ W F4 UL is sum and F4 is carry
(d) F3 99 § W F4 ${/F3 is sum and F4 is carry

c
d

Options:
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Fofafad feamerd 9= (32 fe @Wad RYIEEE 754) @1 cuad § uRafdd #

Convert the following binary number (32 bit floating point IEEE 754) into decimal.
11000001 1000 1100 0000 0000 0000 0000

(a) -17.5
(b)  -32.0
(c) -64.5
(d) 128.75

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofefea fgamerd g@n (32 fe wad g IEEE 754) @1 c¥ad # uRafda &

Convert the following binary number (32 bit floating point IEEE 754) into decimal.
11000001 1000 1100 0000 0000 0000 0000

(a -17.5
(b) -32.0
(c) -64.5
(d) 128.75

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fafiied VHDL &% | Fo A &1 Udl Tl
Determine the value of F in the following VHDL statement.
<=*011001™;

E<="1107,

F<=(not E & “001” or “000100”) and not D;
(a) 000110
(b) 100100
(c) 111111
(d) 000100
Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

F9fafed VHDL &¥9 § F& A9 @I Udl @l

Determine the value of F in the following VHDL statement.

<=*011001";
E<="110";
F<=(not E & “001” or “000100”) and not D;

(a) 000110

(b) 100100

(c) 111111

(d) 000100

Options :

1.a

2.b

3.C

4.d

Question Number : 51 Question Id : 7715134586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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i fog dieedt yade ufkmy Vs = 100mV, R=100kQ,V=75mV, Ri=10Q, T Vo =2V AH|
UG Ry & TR H 30Q & URRIYS Sisd & df Vo @I L8V F UH Bl 8l A W R, @
Tl |

In the voltage amplifier circuit given below, let Vs = 100mV, R=100kQ,V;=75mV, Ri=100Q,
and Vo =2V. If connecting a 30Q resistor in parallel with Ry causes dropping Vo to 1.8V, find

Ay and R,

l'__gs_‘l I_____;_l = = =7
| iz | Lz |

| | L | |

| |+ |+ |
Vs vi p Vs Aoc Wi Vi 2R

| 3 R
| || o | |
Lo i | TSP R f | SR |

(@)  Ax=80V/V, R=4Q
() Ax=60V/V, R=5Q
(€)  Ax=50V/V, R=4Q
(d)  Ax=40VIV , R=5Q

Options :
1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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i fog dieedt yade ufkmy Vs = 100mV, R=100kQ,V=75mV, Ri=10Q, T Vo =2V AH|
UG Ry & TR H 30Q & URRIYS Sisd & df Vo @I L8V F UH Bl 8l A W R, @
Tl |

In the voltage amplifier circuit given below, let Vs = 100mV, R=100kQ,V;=75mV, Ri=100Q,
and Vo =2V. If connecting a 30Q resistor in parallel with Ry causes dropping Vo to 1.8V, find

Ay and R,

l'__gs_‘l I_____;_l = = =7
| iz | Lz |

| | L | |

| |+ |+ |
Vs vi p Vs Aoc Wi Vi 2R

| 3 R
| || o | |
Lo i | TSP R f | SR |

(@)  Ax=80V/V, R=4Q
() Ax=60V/V, R=5Q
(€)  Ax=50V/V, R=4Q
(d)  Ax=40VIV , R=5Q

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134587 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I U 391 o T @ 9 TR foe? & fU, 75 Hz & 3db ofdd g & U RIG
R2 & A B ........
For the unity gain Sallen Key low pass filter given below, value of R1 and R2 for a-3db cut-off
frequency of 75 Hz is approximately

I

R1

I

c2
0.5

+15V

Vin Y'Y

)

b RLR2=2K
)
)

Options :
1.a
2.b
3.cC
4.d

RI,R2=15K

RI=15K,R2=3K
R1=2k, R2=4K

==
Ty —

A —

-15V

—o V out

GET IT ON
Google Play

Question Number : 52 Question Id : 7715134587 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I U 391 o T @ 9 TR foe? & fU, 75 Hz & 3db ofdd g & U RIG
R2 T HF HU&H ........ B

For the unity gain Sallen Key low pass filter given below, value of R1 and R2 for a-3db cut-off
frequency of 75 Hz is approximately
I

c2
0.5

+15V

R1 R2

Vin YVY VW

—o V out

==
Ty —

A —

-15V

(a) RLR2=135K
(b) RI,R2=2K

(c) RI=L5K,R2=3K
(d) RI=2k, R2=4K
Options :

1.a

2.b

3.cC

4.d

Question Number : 53 Question Id : 7715134588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fferi duc H WG Hod 3olage U4 % WigW 0 W p (Wide) &1 Hidad Y el gl U6
Tl UG HAY: JUGH & T Ng—-N,= 105 em? gl

Estimate the free electron and hole concentrations, n and p (approx.) present in a silicon sample
where both donor and acceptor impurities are simultaneously present and Ng— N, = 10 cm?
(a) n=108cm?;p=10"cm?

(b) n=10%cm?;p=10"cm?

(c) n=108cm?;p=10"cm?

(d) n=105cm?;p=105cm?

Options:
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 53 Question Id : 7715134588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ffcioM dud # UG 49 Iodaei W R% WigW 0 W p (WHDE) &1 Hibed Y gl ol U
) 3fUGod PAY: IUTH & TUN Ng— N, = 108 em?
Estimate the free electron and hole concentrations, n and p (approx.) present in a silicon sample

where both donor and acceptor impurities are simultaneously present and Ng— N, = 10 cm?
(a) n=108cm?;p=10"cm?

(b) n=10%cm?;p=10"cm?
(c) n=108cm?;p=10"cm?
(d) n=105cm?;p=105cm?

Options:

1.a

2.b

3.c

4.d

Question Number : 54 Question Id : 7715134589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T t=0 § RA@ dieedl Ve=-2V ¥ Tfa¥d R & 9NT FIT @ t=00 R 3 diceadl Vo=
5V H o f$W 9 31 ¥ t= RC R, TURT & R-UR @ Ihde deed

A capacitor C is charged through resistance R from inifial voltage Vc = -2V at time =0 to
final voltage Vc = 5V at t = . At time t= RC, approx. voltage across the capacitor is

(a) 190V
(b) 24V
() 33V
(d 39V
Options :
1.a
2.b
3.C

4.d
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Question Number : 54 Question Id : 7715134589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

99 t=0 § YRA® dieedl Ve=-2V ¥ WialY R & FRU TR @ t=o0 W 3 diceedl Vo=
5V # R f&W 9 8 ¥ t= RC W, TURA & R-TR @ Ihde dieed

A capacitor C is charged through resistance R from initial voltage Vc = -2V at time t=0 to
final voltage Vc = 5V at t = oo, At time t=RC, approx. voltage across the capacitor is

(a) 190V
(b) 24V
(c) 33V
(d 39V
Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR ¥ g @ URlY Rl T R2 @7 g URRIY R 81 U RI U4 R2 H Udd & fow 1%
@ el &, d WY R1=300 Q W R2=200Q & iU g R ¥ Wiod Taefl ........ Gl
Suppose that resistors R1 and R2 are connected in parallel to give an equivalent resistor R. If
resistors R1 and R2 have tolerance of 1% each, the equivalent resistor R for resistors R1=300 Q
and R2=200Q will have tolerance of

(a)  0.5%

(b) 1%

(c) 12%

(d)

2%

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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TR H IS @ WY RI W R & Q@ WY R 31 I RI W R2 ® 0@ & fow 1%
@ gl g, d Wl R1=300 Q WR2=200Q & foiv g R ¥ Wiod Tel ........ Gl
Suppose that resistors R1 and R2 are connected in parallel to give an equivalent resistor R. If
resistors R1 and R2 have tolerance of 1% each, the equivalent resistor R for resistors R1=300 Q
and R2=200Q will have tolerance of

(a)  0.5%

(b) 1%

(€) 1.2%

(d)

2%

Options:
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e TRy S ded ® | (mv/V)kPa @1 TR 81 dw 10 V @ 39 Tem ¥ Sfem
s‘la?%am&rmgzaﬁ3%%:00mvww1ﬁmnﬁ1ﬂaﬁmﬂmwwﬁ|
A1 2l &7 faved, TR A ..., gl

A piezoresistive pressure sensor has a sensitivity of 1 (mV/V)/kPa. The sensor is excited with a

dc supply of 10 V and the output is read using 3%digit 200mV full-scale digital multimeter.

The resolution of the measurement set-up, in pascal is

(a) 15
(b)y 20
(c) 5
(d) 10
Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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&6 Wakly g Wdgw H 1 (mV/V)kPa @ ifedl &l Uded 10 v @I Sl yem ¥ Idfed
B § U1 AR @ 3- 3% 200my T A Rfed AR @1 0 @R Tl A Bl
A1 gl @1 faved, e AL gl

A piezoresistive pressure sensor has a sensitivity of 1 (mV/V)/kPa. The sensor is excited with a

dc supply of 10 V and the output is read using B%digit 200mV full-scale digital multimeter.

The resolution of the measurement set-up, in pascal is

(@ 15
(b) 20
() 5
(d) 10
Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134592 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 9e @ 2 U & fU SA A 96 By oI g, NWd 9 39 R ohms & YRlvD U
fqufiia foar o g1 2 def # fowed @l od e dieedl 12V R RR W 5, d sl
@l Ah G&dl I 80% WA g¢ R’ & WM @I Udl @l

A battery is charged at SA for 2 hours after which it is discharged through a resistor of R ohms.

If discharge period is 2 hours and the terminal voltage remains fixed at 12V, find out the value
of ‘R’ assuming the Ah efficiency of the battery as 80%

(a) 3 ohm
(b) 2.4 ohm
(c) 1.92ohm
(d) 2 ohms
Options :
1.a

2.b

3.C

4.d

Question Number : 57 Question Id : 7715134592 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ dell @ 2 U & foy sA H 9 BT W §, WP @16 39 R ohms & WRlYE ¥
faufola foar oian g1 2 def A fowelt sl @ o dieedr 12V R RR W R, @ el
Bl Ah G&d 31 80% FF §¢ ‘R’ P HF @1 Wl )

A battery is charged at SA for 2 hours after which it is discharged through a resistor of R ohms.

If discharge period is 2 hours and the terminal voltage remains fixed at 12V, find out the value
of ‘R’ assuming the Ah efficiency of the battery as 80%

(a) 3 ohm
(b) 2.4 ohm
(c)  1.92ohm
(d) 2 ohms
Options :
1.a

2.b

3.c

4.d

Question Number : 58 Question Id : 7715134593 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3.46 B Ty faggaEiic ¥ god "W H fdggd & e faggaiad 2 O TRd 81 WM
R4 H, 90 @ AR WHE & Y A E 60° &1 IV I 5, d fody Widgdd d
&, FEHRG & WY -9 DI AT

An electric field in a medium with relative permittivity of 3.46 passes into a medium of relative
permittivity 2. If E makes an angle of 60° with the normal to the boundary in the first dielectric,
what angle does the field make with the normal in the second dielectric.

(@) 45
(b) 60
(c) 30
(d) 90
Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134593 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

3.46 @ Ty faggadic ¥ god Hem H fdggd & we faggadiaa 2 U Rdl 81 W
Wideygd #, T9sd 1 AR T & WY 4G E 60° BT B & §, dl fadiy Widgga H
&, TEHT & WY BH-E DI S

An electric field in a medium with relative permittivity of 3.46 passes into a medium of relative
permittivity 2. If E makes an angle of 60° with the normal to the boundary in the first dielectric,
what angle does the field make with the normal in the second dielectric.

(a) 45
(b) 60
(c) 30
(d) 90
Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134594 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WP YAl URT & o &Y TF .......... 8
For a sinusoidal alternating current, form factor is
R AA average value

r.m.s HHq r.m.s value
r.m.s HH r.m.s value

Hgaaq / average value
r.m.s H r.m.s value

©) SRR AA / peak value
R aH peak value

r.m.sHH r.m.s value

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 59 Question Id : 7715134594 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WS Tdad 4R1 & fou w9 d
For a sinusoidal alternating current, form factor is
SR AH average value

r.m.sHH r.m.s value
r.m.s HH r.m.s value

IAgdAq / average value
r.m.s HH r.m.s value

©) R AH / peak value
R aH peak value

r.m.s HH r.m.s value

Options:
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134595 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W 230V St 9 H 0.5 ohm &1 HHR WY 1 IC T YR AR URT 25A &, dl
URd e.m.f @ U @, W6 HLH W (GRE) & ©0 H o1 Bl g

A 230V dc machine has an armature resistance of 0.5 ohm. If the full load armature current is
25A, find the induced e.m.f, when the machine acts as a generator.

(a) 220V
(b) 2175V
(c) 230V
(d 2425V
Options :

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134595 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

W 230V St 99 | 0.5 ohm &1 FHR WY 1 e T YR R URT 25A &,
R e.m.f @1 Gdl @G, W§ AEH @FE (@GRS & ¥ F o0 Fd g

A 230V dc machine has an armature resistance of 0.5 ohm. If the full load armature current is
25A, find the induced e.m.f, when the machine acts as a generator.

(a) 220V
(b) 217.5V
(c) 230V
(d) 2425V
Options :

1.a

2.b

3.c

4.d

Aptitude Test

Partl
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Question Number : 61 Question Id : 7715134596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

feorr fpw U ¥ Wefia &2

To which group does the figure belong?

ol Isl Is | |
Group A momm I | ALALA

GrnupB Ay Yaray | | i Imim |

(a) A
(b) B

(c) 9 A-B/Neither AnorB
(d) Judad Tf/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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fomr b0 qu ¥ wefd &2

To which group does the figure belong?

LS

Group A momn

(a) A
(b) B

(c) T A"B/Neither AnorB
(d) ST GHi/All of the above

Options:
1.a
2.b
3.c
4.d

Group B AMLLA | |
.:‘JI * I:I‘ I'.LI. ]

LA%s g%

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134597 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

SH-T1 77 Uy g & 99 Y | Fel dadl 8?

Which figure fits in the column with questions mark?

Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134597 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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SH-T1 77 Uy g & 99 Y | Fel dadl 8?

Which figure fits in the column with questions mark?

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

fofafed & ¥ aH-w Jd U thade @1 3T &1 W &Rl 52 Aoy dedl & @
Jdaw H U # ¥ g F o Bl uie 93HF WieR 6 qufd, e el Hedl @
U B B HEdl § off & deAH & M. ...

Which of the following best completes the passage below? In a survey of job applicants, two-fifths
admitted to being at least a little dishonest. However, the survey may underestimate the
proportion of job applicants who are dishonest, because .

(a)

(b)

(c)

(d)

%wﬁﬁwé@mmﬁﬁﬁﬁwﬁmmﬁmﬁﬁﬁmﬁm

some dishonest people taking the survey might have claimed on the survey to be honest
Y& od $9 HURUIGY SHAGR odigadl - Y& § U U & §3HH BH @l
eI

some generally honest people taking the survey might have claimed on the survey to be
dishonest

oD g forg Y& # 30 Y Bl ST §SAH §H @1 Gal & g d §gd
Wl S g

some people who claimed on the survey to be at least a little dishonest may be very
dishonest

afad forg Hagu # U MU B 959F gH @1 gE [ g 9 3AFGR
WAE & @ el
some people who claimed on the survey to be dishonest may have been answering
honestly

Options :

1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

Question Number : 63 Question Id : 7715134598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Addal2417

fofafed & ¥ aH-w Jd U thade @1 3T &1 W &Rl 52 Aoy dedl & @
Jdaw H U # ¥ g F o Bl uie 93HF WieR 6 qufd, e el Hedl @
U B B HEdl § off & deAH & M. ...

Which of the following best completes the passage below? In a survey of job applicants, two-fifths
admitted to being at least a little dishonest. However, the survey may underestimate the
proportion of job applicants who are dishonest, because .

(a)

(b)

(c)

(d)

%wﬁﬁwé@mmﬁﬁﬁﬁwﬁmmﬁmﬁﬁﬁmﬁm

some dishonest people taking the survey might have claimed on the survey to be honest
Y& od $9 HURUIGY SHAGR odigadl - Y& § U U & §3HH BH @l
eI

some generally honest people taking the survey might have claimed on the survey to be
dishonest

oD g forg Y& # 30 Y Bl ST §SAH §H @1 Gal & g d §gd
Wl S g

some people who claimed on the survey to be at least a little dishonest may be very
dishonest

A forgld Taem # 3 U S 93AF gH @1 GaT [ g d SAFGRI
WaE ¢ 3¢ il

some people who claimed on the survey to be dishonest may have been answering
honestly

Options :

1.a
2.b
3.¢C
4.d

Question Number : 64 Question Id : 7715134599 Question Type

Correct Marks : 1 Wrong Marks : 0
48,24, 12, ... 907 & DH-U T=AT A MHT ARET?

Which number should come next in the series, 48, 24, 12, ......7

(a)
(b)
(c)
(d)

[N =y B » e

Options :

1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

: MCQ Option Shuffling : No
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Question Number : 64 Question Id : 7715134599 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

48,24,12, ... 907 H DH-UT T=AT FTCH AT AfeU?

Which number should come next in the series, 48, 24, 12, ......7

(a)
(b)
(c)
(d)

(RS T S

Options :
1.a
2.b
3.cC
4.d

Question Number : 65 Question Id : 7715134600 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

s U aRkg AU veye $ Y AUSI U fqUUH 9@ o 3 3 IFi &
ﬁ?ﬁaﬁﬁmmﬁméﬁqﬁﬁlmaﬂﬁﬁﬁiéﬁwﬁﬁﬁi
& WY T 9Hd § 9 FRAR end d wd §1 3 Al end g

& U &% E § 39 | Pap

At a marketing meeting with your supervisor and the senior marketing manager you find yourself
in the midst of a conflict between them. You know that the two do not get along professionally
and that they are in constant disagreement. They are now arguing about strategies for a new
campaign, and are asking you to pick a side. What would you do?

(a) &MU aRky fauvH yeed & fGarR & WeR & dfd, d §gd dRF & aul B
ﬂaﬂuﬁi;aaﬁaaﬂddmwﬁqum%, ¥ 30! TEifd Fe Aifiwe g 9§
gighH gl

You accept the idea of the senior marketing manager. Since she is more senior she has

more influence on your status in the company and therefore it is politically wiser to
support her.

(b) 3T U THd&® & [GIR Bl WoOR 4 4, 6 Te § AUd I W 3
g, 0 I H oud ene orl § e yuid §, o odl yHild Bl
HifiR® &1 ¥ gfear gl
You accept the idea of your supervisor. Since he is directly above you, he has more
influence on your daily routine in the company and therefore it is politically wiser to
support him.

(c) ﬁaﬂ%u%i%awaimuaaﬁaﬁmﬂﬂwWWWﬁuémm
|

You weigh up the advantages and disadvantages of each side and decide accordingly
without getting involved in their personal conflict.

(d) MU AFAT & & 39 fdal # usT e fou giHeR® s, ®ie gHl iR
WS UG dNY g U cHi Rl B $HH ¥U ¥ 9%d JHd §¢ U@ I 999
& U T W G

You believe that getting involved in this dispute would be detrimental to you as both sides
are superior to you. Therefore, you refuse to pick a side saying that both strategies are
equally successful.

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 65 Question Id : 7715134600 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

s U aRkg AU veye $ Y AUSI U fqUUH 9@ o 3 3 IFi &
ﬁ?ﬁaﬁﬁmmﬁméﬁqﬁﬁlmaﬂﬁﬁﬁiéﬁwﬁﬁﬁi
& WY T 9Hd § 9 FRAR end d wd §1 3 Al end g

& U &% E § 39 | Pap

At a marketing meeting with your supervisor and the senior marketing manager you find yourself
in the midst of a conflict between them. You know that the two do not get along professionally
and that they are in constant disagreement. They are now arguing about strategies for a new
campaign, and are asking you to pick a side. What would you do?

(a) &MU aRky fauvH yeed & fGarR & WeR & dfd, d §gd dRF & aul B
ﬂaﬂuﬁi;aaﬁaaﬂddmwﬁqum%, ¥ 30! TEifd Fe Aifiwe g 9§
gighH gl

You accept the idea of the senior marketing manager. Since she is more senior she has

more influence on your status in the company and therefore it is politically wiser to
support her.

(b) 3T U THd&® & [GIR Bl WoOR 4 4, 6 Te § AUd I W 3
g, 0 I H oud ene orl § e yuid §, o odl yHild Bl
HifiR® &1 ¥ gfear gl
You accept the idea of your supervisor. Since he is directly above you, he has more
influence on your daily routine in the company and therefore it is politically wiser to
support him.

(c) ﬁaﬂ%u%i%awaimuaaﬁaﬁmﬂﬂwWWWﬁuémm
|

You weigh up the advantages and disadvantages of each side and decide accordingly
without getting involved in their personal conflict.

(d) MU AFAT & & 39 fdal # usT e fou giHeR® s, ®ie gHl iR
WS UG dNY g U cHi Rl B $HH ¥U ¥ 9%d JHd §¢ U@ I 999
& U T W G

You believe that getting involved in this dispute would be detrimental to you as both sides
are superior to you. Therefore, you refuse to pick a side saying that both strategies are
equally successful.

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 66 Question Id : 7715134601 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

gl g H o199 9@ & & adl I WE0 B H uRae udYd & ®9 F o
g1 GH AP U 75 ORI R T9 &31 & o0 0 Gedidl & 9y U6 980 @
I Tl gl 96@ b GRH, G NG TGHH al B Blel W0 FTHTeH T g SUd!
9@ 3o 8, W 96 @I W dal g1 gl 1wk &1 SR R e @ g

Bonnie is a recent business graduate and has been hired as a project manager at a construction
firm. Bonnie arranges a company meeting with her colleagues to discuss a new project she will be
managing. During the meeting, two senior colleagues keep making jokes about how young and
inexperienced Bonnie is, which disrupts the meeting. What is the best way for Bonnie to respond?

(a) T B TN Y Foa I ARY IR AT ARG e avd §Y A @ §R
¥ 98 T ¢ TR
Bonnie should storm out of the room and slam the door to make a point.

(b) dF BT 30 GeHiHdl & geld Bl AH Held ISHI ANl

Bonnie should make jokes about how old her colleagues are.

(c) aHl &I 3 Teofal S ToReGH BXd g 96d GRl TG dlfel
Bonnie should ignore her colleagues and continue with the meeting.

(d) S DI U YgoHal S Hiel § G qU1 950 B 91 U Held oM & B
@ ORI W @ fou de afgul

Bonnie should ask her colleagues to be respectful and continue with their jokes after the
meeting.

Options :
1.a
2.b
3.cC
4.d

Question Number : 66 Question Id : 7715134601 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Addal2i7

gl g H o199 9@ & & adl I WE0 B H uRae udYd & ®9 F o
g1 GH AP U 75 ORI R T9 &31 & o0 0 Gedidl & 9y U6 980 @
I Tl gl 96@ b GRH, G NG TGHH al B Blel W0 FTHTeH T g SUd!
9@ 3o 8, W 96 @I W dal g1 gl 1wk &1 SR R e @ g

Bonnie is a recent business graduate and has been hired as a project manager at a construction
firm. Bonnie arranges a company meeting with her colleagues to discuss a new project she will be
managing. During the meeting, two senior colleagues keep making jokes about how young and
inexperienced Bonnie is, which disrupts the meeting. What is the best way for Bonnie to respond?

(a) T B TN Y Foa I ARY IR AT ARG e avd §Y A @ §R
¥ 98 T ¢ TR
Bonnie should storm out of the room and slam the door to make a point.

(b) dF BT 30 GeHiHdl & geld Bl AH Held ISHI ANl

Bonnie should make jokes about how old her colleagues are.

(c) aHl &I 3 Teofal S ToReGH BXd g 96d GRl TG dlfel
Bonnie should ignore her colleagues and continue with the meeting.

(d) S DI U YgoHal S Hiel § G qU1 950 B 91 U Held oM & B
@ ORI W @ fou de afgul

Bonnie should ask her colleagues to be respectful and continue with their jokes after the
meeting.

Options :
1.a
2.b
3.cC
4.d

Question Number : 67 Question Id : 7715134602 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

@0 &1 W4y S0 9 3, q9 99a @1 gy ..., i
Cup is to coffee as bowl is to

(a) &2/Dish
(b) §/Soup
(c) dHd/Spoon
(d) @i/Food
Options :
1.a

2.b

3.cC


https://applink.adda247.com/d/XhqWf9lSap
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4.d

GET IT ON
Google Play

Question Number : 67 Question Id : 7715134602 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

&0 &1 T4y S0 Y ¢, T9 990 I WY L........ el
Cup is to coffee as bowl is to

a) f&%Dish
b) ¥{U/Soup
c) dHd/Spoon
d) WHI/Food

— p— p— p—

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134603 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
fom fvg qu 9 defdg 8

To which group does the figure belong?

o
H N
[ i i
Group A: |
n mmE 1
n i)
Group B: O O 0 i
| il

(a) YU/Group A

(b) TH/Group B

(c) A a-B/Neither AnorB

(d) Iudad Gi/All of the above

Options :


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134603 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fo frw 7o @ Tefia @2

To which group does the figure belong?

B
O
L I
il 0 I gt HER
Group A: m m = =
n gy 1 ] ]
| | 51 =]
Group B: 0 [ i |
m i
(a) 9U/Group A
(b) ¥4/Group B

(c) A aAB/Neither Anor B
(d) Iuhdd THi/All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134604 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

% 99F OR 1@ 0@ | ¢l 3¢ 09 91 Hies 99H &, [0 & &9 ¥ (4 ¥ e
faa g

There are two identical cars along a bridge. If the bridge has the same thickness along it, which
part(s) of the bridge would undergo the most deflection?

i =

(a) <ldY @ ?ﬂ%fUnderthe towers

(h) DR 7 :ﬂﬁfBelowthe cars

() Ud & dtdl aFd/Middle of the bridge

(d) Gﬂﬂjﬂﬂ it 4 39M faeu EﬂTWAII of the above will have equal deflection

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134604 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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% 99F OR 1@ 0@ | ¢l 3¢ 09 91 Hies 99H &, [0 & &9 ¥ (4 ¥ e
faa g

There are two identical cars along a bridge. If the bridge has the same thickness along it, which
part(s) of the bridge would undergo the most deflection?

i =

(a) <ldY @ ?ﬂ%fUnderthe towers

(h) DR 7 :ﬂﬁfBelowthe cars

() Ud & dtdl aFd/Middle of the bridge

(d) Gﬂﬂjﬂﬂ it 4 39M faeu EﬂTWAII of the above will have equal deflection

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134605 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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In which direction will the wheel marked P will spin?

(a) A
(b) B
(c) fﬁﬁ E]]JT-_-[ Igl/No rotation
(d) g '__%3[ ﬂﬁ?’ﬁfﬂan not say

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134605 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

p difded =i Ty fe=m # gamm?

In which direction will the wheel marked P will spin?

(@) A
(b) B
(c) Eb:lﬁ HPT-_-[ Fgl/No rotation
(d) g Tl Eﬁ?’ﬁftan not say

Options :
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1.a
2.b
3.c
4.d

Part II

Question Number : 71 Question Id : 7715134606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG 84x13=8,37x13=6,26x11=68, d 56x22 f&da1 gFP?
If84x13=8,37x 13 =6, 26 x 11 = 6, then 56 x 22 =?

(a) 36
(b) 39
(c) 7
(d) 11
Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TG 84x13=8,37x13=6,26x11=68, d 56x22 f&da1 B2
If84x13=8,37x13=6, 26 x 11 = 6, then 56 x 22 =?

(a) 36
(b) 39
(c) 7
(d) 11
Options :
1.a
2.b
3.¢C
4.d
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Question Number : 72 Question Id : 7715134607 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
DY-/Statements:

ol 8R ['JF*'EI} W{T[U'\EI} B/All poles are guns.

gyt Tl B8R [EI]IW} :IEPI %,I’Some boats are not poles.
ﬁlﬁﬁffCUnclusiDns:

g agas qd %{AII guns are boats.
P qid dgm TE:Ff %}‘Some boats are not guns.

(i)
(ii)

fafad § SH-W W81 8/Which of the following is true?

(a) HIE LA {i}ﬂ%ﬁ %p’Dnly conclusion (i) follows

(b) HE THY (i) W&l &/Only conclusion (ii) follows

(c) Tspd (i) A1 &b (i) WSI B/Either (i) or (i) follows
(d) fspd (i) A1 FAsHY (i) W8l 8/Neither (i) nor (i) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134607 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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DY-/Statements:

ol 8R ['JF*'EI} W{T[U'\EI} B/All poles are guns.
gyt Tl B8R [EI]IW} :IEPI %,I’Some boats are not poles.

ﬁlﬁﬁffCUnclusiDns:
(i) it agas i %{AII guns are boats.
(ii) P qid dgm TE:Ff %}‘Some boats are not guns.

fafiad § SH-W W81 8/Which of the following is true?

(a) HIE LA {i}ﬂ%ﬁ %p’Dnly conclusion (i) follows

(b) HAE T=HY (i) T8I &/Only conclusion (i) follows

(c) TPy (i) AT M (i) WSI B/Either (i) or (i) follows
(d) fspd (i) A1 FAsHY (i) W&l 8/Neither (i) nor (i) follows

Options :

1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafed foeeal 9 ¥ U T HiRsUTE &1 Ao <o 9 Teg &1 999 &

Choose one of the following options that means the opposite of the word; HIRSUTE
(a) Scaly
(b) Bald
(c) Erudite
(d) Quiet
Options :
1.a
2.b
3.¢

4.d

Question Number : 73 Question Id : 7715134608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frofefad fadedt # @ GU Wsg HIRSUTE &1 fawdiard iR a1d 9o &1 909 &

Choose one of the following options that means the opposite of the word; HIRSUTE

(a) Scaly

(b) Bald

(c) Erudite
(d) Quiet
Options :
1.a

2.b

3.c

4.d

GET IT ON
Google Play

Question Number : 74 Question Id : 7715134609 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
BIH-T1 Uy g @ fdiitd s

Which one will replace the question mark?

16 28 28
13 12 16
14 10 15
15 30 ?

(a) 60
(b) 30
(c) 20
(d) 45
Options:
1.a
2.b

3.cC
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

GET IT ON
Google Play

Question Number : 74 Question Id : 7715134609 Question Type : MCQ Option >nurriing : NO

Correct Marks : 2 Wrong Marks : 0
BH-U Uy g & ufoRiitd s

Which one will replace the question mark?

16 28 29

13 12 16

14 10 15

15 30 ?

(a) 60
(b) 30
(c) 20
(d) 45

Options:
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134610 Question Type
Correct Marks : 2 Wrong Marks : 0

Dy-/Statements:
g dlp Biﬁ% %fSc-me blades are hammers.
PE E’% @3{ %f;‘SDme hammers are knives.
PE @7‘5 @?E»Tﬁ'ﬂ’f %!,H'SDITIE knives are axes.

fA=d/Conclusions:

(i) 3] m Biﬁ?ﬂ %fSc:me axes are hammers.
(ii) EE] @ did g/Some knives are blades.

(iii) 3] m dld %}Some axes are blades.

(a) ®HMEA (i)d {ii}ﬂﬁ %{Only (i) and (ii) follow
(b) HEA (ii)d (iii) ol %;"Dr‘uly (i) and (iii) follow
(c) |E (i)d (i) Gel %{Dnly (i) and (iii) follow
(d) P& Hi H%af :E;P[ %?Ncrne follows

: MCQ Option Shuffling : No
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Options:

1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134610 Question Type
Correct Marks : 2 Wrong Marks : 0

DY-/Statements:
g dlp 3@% %,"Sc)me blades are hammers.
] E{% @3\7 %ffSDme hammers are knives.
] @J\r Q?TE»TFE':?JT 8/Some knives are axes.

ﬁﬁﬁfﬂ:onclusions:
(i) pd W Biﬁ?ﬂ B/Some axes are hammers.
(ii) s @ EIET &/Some knives are blades.

(iii) pd W dld B/Some axes are blades.

(a) HME (i)d {ii]ﬂﬁ %{Onlv (i) and (ii) follow
(b) HME (i) d (i) el %{Dr‘ulv (ii) and (iii) follow
(c) #HHA (i)d {iii]"\ElgT %{Dnly (i) and (iii) follow
(d) P& Ht HEPI :IEP[ %fNﬂne follows

Options :
1.a
2.b
3.c
4.d

Descriptive

GET IT ON
Google Play

: MCQ Option Shuffling : No
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Question Number : 76 Question Id : 7715134611 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

YRYG MOS faudt gm &1 uRuy fF fewn ud gmaawn & 99d oy Rua faud
diced dfel W $Y|

Show the circuit diagram of a basic MOS differential pair and derive its small signal
differential voltage gain in equilibrium condition.

Question Number : 76 Question Id : 7715134611 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

YRYG MOS faudt gm &1 uRuy fF femn ud gmamaen ¥ 99d oy Rwa faud
diced dfel W $Y|

Show the circuit diagram of a basic MOS differential pair and derive its small signal
differential voltage gain in equilibrium condition.

Question Number : 77 Question Id : 7715134612 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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TdD b $ YORIAD I U B §Y fedd H REHI-Swl ADC @1 € ARG
fewr) fou yoR 98 fidea 3= aud UMY Had $dl & Ud U U Wad
TBAI WY B

Show the block diagram of a second order sigma-delta ADC describing the
functionality of each block. Explain how the architecture enables high resolution
conversion and the techniques employed there-in.

Question Number : 77 Question Id : 7715134612 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Td% wid B YHEIED I U B §Y G H H-Swl ADC BT €3 ARG
G| 59 WoR 75 S I faHd SO 390 Yl 7 Ud 9ud U e
db-iie W $1

Show the block diagram of a second order sigma-delta ADC describing the
functionality of each block. Explain how the architecture enables high resolution
conversion and the techniques employed there-in.

Question Number : 78 Question Id : 7715134613 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Fofafed fefored uRuy # $ge (AB.CD) R ¥& @Y (Sa-0 / Sa-1) &1 Ul &H &
R savas e Wam Tioey @ e 9e o 82
What is the minimum number of input test patterns required to detect stuck at fault (Sa-
0/ Sa-1) at inputs (A,B.C,D) in the following digital circuit?

A—

B —
L= Y

D J

Question Number : 78 Question Id : 7715134613 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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ffafad fefored uRuy & g9qe (AB,C.D) W ¥& &Y (Sa-0 / Sa-1) &1 Udl &4 &
i Ew® AqC Wav Wiowy &1 d J& b &
What is the minimum number of input test patterns required to detect stuck at fault (Sa-
0/ Sa-1) at inputs (A,B,C,D) in the following digital circuit?

A —
B_
C—

24

7

D
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Question Number : 79 Question Id : 7715134614 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

MOSFET & %Wid 3 4 f&d W @ 9U &Yl 1 kHz § | MHz & d8 & iU
NMOS URT 9id & $d W 1 URdad ol

Give the expressions for the thermal noise and flicker noise of a MOSFET. Calculate
the total noise for an NMOS current source for a band from | kHz to 1 MHz.

Question Number : 79 Question Id : 7715134614 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

MOSFET & W4 3 U4 fpd W@ &1 U &8l | kHz ¥ | MHz & d8 & foU
NMOS 4RI Hld & $d @ @I WS @)

Give the expressions for the thermal noise and flicker noise of a MOSFET. Calculate
the total noise for an NMOS current source for a band from | kHz to 1 MHz.

Question Number : 80 Question Id : 7715134615 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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@) fem fou gufe wied # wemR %W ¥ ooy 9RE @ it dF
iy gvmal &1 aul B S Suet e @t Tifdd @ e g

@) fem fou gufe N ot wade &1 oy s <aft Wi op amp foga
U il A, T ORI op amp e ala C;, WA §U I9@! dlel @ W@ &Y
(a) Show the circuit diagram of a sampling switch as used in Switched capacitor
circuits. Explain three parasitic effects that can affect its precision.

(b) Show the circuit diagram of a switched capacitor non-inverting amplifier. Derive its
gain expression assuming finite op amp open loop gain of A, and finite op amp input

capacitance, Ci.

Question Number : 80 Question Id : 7715134615 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

@) fem fou gufer oiel & woeareR IR e & ooy 9RE @ iyl &
orieli ot i B gl M v et ) R R

@) fem fou 9ufa N ot wode o1 ofoy sva caftl R op amp figa
TR Wi A, T4 R op amp Hd¥ 4iRdl C, A BT 9D Al I9H WIW B
(a) Show the circuit diagram of a sampling switch as used in Switched capacitor
circuits. Explain three parasitic effects that can affect its precision.

(b) Show the circuit diagram of a switched capacitor non-inverting amplifier. Derive its
gain expression assuming finite op amp open loop gain of A, and finite op amp input

capacitance, Cy,


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Untitled



